Circle Relationships Landscape Scene
Solve each circle relationship and then use a pencil to draw the object that corresponds with your answer on a blank sheet of paper.  SHOW YOUR STEPS!
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	If you got
24
	Draw:
Mountains



	If you got
12
	Draw:
Desert
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	If you got

	Draw:
2 Pine Trees



	If you got

	Draw:
3 Palm Trees
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	If you got
15
	Draw:
 Sun 



	If you got
27
	Draw:
 Moon
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	If you got
18
	Draw:
Superman



	If you got
16
	Draw:
A Witch
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	If you got
142
	Draw:
5 Stars



	If you got
71
	Draw:
2 Clouds
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	If you got
45
	Draw:
Blue Boarder



	If you got
25
	Draw:
Brown Boarder
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	If you got
9
	Draw:
Sunflower



	If you got
19.2
	Draw:
Rose
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	If you got
12
	Draw:
Cat



	If you got
16
	Draw:
Giraffe
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	If you got
35
	Draw:
Baseball Bat



	If you got
55
	Draw:
Football
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	If you got
4
	Draw:
Rainbow



	If you got
3
	Draw:
Tornado
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	If you got
15
	Draw:
Hot Air Balloon



	If you got
12
	Draw:
Airplane
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	If you got
30
	Draw:
Purple Sky



	If you got
15
	Draw:
Orange Sky
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If AB =20, AE = 12, and CF = 15, what is the
length of AC?
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If mZAEC = 34 and mAC = 50, what is mDB?
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1fmCD = 70 and mAB = 20, what is the degree
measure of ZP?
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5. what is the length of BD?
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1If PA =8 and PB = 4, what is the length of BC?
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diameter AB is
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parallel to chord CD
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£ mCD = 70, what is mAC?
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In the diagram below of circle O, radius OC is 5__
cm. Chord AB is 8 cm and is perpendicular to OC
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‘What is the length of OP, in centimeters?
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£CE=10,ED=
of EB?

, what is the length
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What s the length of AP?
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In the diagram below of circle O, diameter AOB is
perpendicular to chord CD at point E, 04 = 6, and
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‘What is the length of CE?




